MATHS

BOOKS - INDEPENDENTLY PUBLISHED MATHS (ENGLISH)

MODEL TEST 6

1.1f 10y — 6 = 3k(5y — 3) for all y, then k=

@ >
w|ot | w w N N -

)

©

Answer: B

| o ]


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8pWlzvYGae7D

l & Watch Video Solution J

2. Two 6-sided dice are rolled . What is the probability that the sum of

the faces showing up is less than 5 ?

A 1
12
1
B. —
6

c 7
11
7

D. —
10
Answer: B

° Watch Video Solution

3.1f (a,b) is a solution of the system of equations

20 —y =17 .
, then the difference, a-b , equals
z+y=28

A —12


https://dl.doubtnut.com/l/_8pWlzvYGae7D
https://dl.doubtnut.com/l/_IVl5jWE4x5uU
https://dl.doubtnut.com/l/_JrbWQxR7mgGw

B.—10

C.O

D.2

Answer: D

o Watch Video Solution

A4

B.3

= o] o

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_JrbWQxR7mgGw
https://dl.doubtnut.com/l/_jGRVNsreDzBW

5. A sphere is inscribed in a cube. The ratio of the volume of the sphere

to the volume of the cube is

A.0.79:1

B.1:2

C.0.52:1

D.1:3.1

Answer: C

° Watch Video Solution

6. Fing y if the slope of the line containing the point (-1,3) and (4,y) is 0.75

A.0.75

B.1

C.6.75


https://dl.doubtnut.com/l/_mqTljLH6AN3U
https://dl.doubtnut.com/l/_DFbkbClkOvcY

D.8

Answer: C

° Watch Video Solution

7. The roots of the equation 3z* + 423 +  — 1 = 0 consist of

A. three positive real numbers and one negative real number

B. three negative real numbers and one positive real number

C. one negative real number and three imaginary numbers

D.one positive real number , one negative real number, and two

imaginary numbers.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_DFbkbClkOvcY
https://dl.doubtnut.com/l/_q7wD6dfG3qG6

8. For what value(s) of k is 22 + 3z + k divisible by x+k ?

A.only O
B.only O or 2
C.onlyOor-4

D. no value of k

Answer: B

° Watch Video Solution

9. What number should be added to each of the three numbers, 3,11 and

27 so that the resulting numbers form a geomatric sequence ?

A.2

B.3

C.4


https://dl.doubtnut.com/l/_dTNQMkH8hbwM
https://dl.doubtnut.com/l/_6xqT9ClM8pI6

D.5

Answer: D

o Watch Video Solution

10. What is the equation of the set of points that are 5 units from point
(2,34)?
A2x+3y+4z=5
B.z®> + 9% + 2> —4dx — 6y — 82 =25
Cz—2°+w—-3)°+(2—-4°=25

D.z? +y> + 22 =5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_6xqT9ClM8pI6
https://dl.doubtnut.com/l/_rlhj3O62jzAO

M1f32%/% = 4 ,then x=

A 112
B. 1.21
C.1.34

D.1.49

Answer: B

o Watch Video Solution

12.1f f(x) = z® — 4, then the inverse of f=

A —z° +4
B.v/x +4
C.¥xr —4

1
x3 —4

D.


https://dl.doubtnut.com/l/_mVGX479gKHju
https://dl.doubtnut.com/l/_CWL6G7ao1vnJ

Answer: B

° Watch Video Solution

13.1f f is an odd function and f(a) = b, which of the following must also

be true ?
l. fla) = — b
IL.f( —a) =0
W.f(—a)= —b
A.only |
B. Only I

C.Only 1N

D.Onlyland Il

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_CWL6G7ao1vnJ
https://dl.doubtnut.com/l/_fL0Igu93l3vP
https://dl.doubtnut.com/l/_bpienHLAPelW

14.For all 6, tan @ + cos 6 + tan( — 6) + cos( — 0) =

A.O
B.2tan®
C.2cos 6

D. 2(tané + cos 6)

Answer: C

° Watch Video Solution

15. The period of the function f(x) = kcos kx is % The amplitude of f

is

| = |

C.1


https://dl.doubtnut.com/l/_bpienHLAPelW
https://dl.doubtnut.com/l/_g2elxNUrBRlz

D.4

Answer: D

° Watch Video Solution

T+ 2 ) )
16.If f(z) = PR its graph will have

A. one horizontal and three vertical asymptotes

B. one horizontal and two vertical asymototes

C.one horizontal and one vertical asymptote

D. zero horizontal and one vertical asymptote

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_g2elxNUrBRlz
https://dl.doubtnut.com/l/_8EtnjzejLzPe

17. At a distance of 100 feet, the angle of elevation from the horizontal

ground to the top of a building is 42° .

The height of the building is

A. 67 feet

B. 74 feet

C. 90 feet

D. 110 feet

Answer: C

° Watch Video Solution

18. A sphere has a surface area of 367 . Its volume is

A. 84

B. 113

C. 201


https://dl.doubtnut.com/l/_M0bCKNJsNbah
https://dl.doubtnut.com/l/_IwRFgM4VzQyV

D. 339

Answer: B

o Watch Video Solution

19. A pair of dice is tossed 10 times. What is the probability that no 7s or

11s appear as the sum of the sides facing up ?

A.0.08

B.0.09

c.on

D.0.16

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_IwRFgM4VzQyV
https://dl.doubtnut.com/l/_CW8dSdnSKeqt

20. The lengths of two sides of a triangle are 50 inches and 63 inches.
The angle opposite the 63-inch side is 66° . How many degrees are in
largest angle of the triangle ?

A.66°

B.67°

C.68°

D.71°

Answer: C

° Watch Video Solution

21. Which of the following is an equation of a line that is perpendicular

to bx + 2y = 8?

A8r —2y=>5

B.5z — 2y = 8


https://dl.doubtnut.com/l/_R0Fv7oeGQPxS
https://dl.doubtnut.com/l/_zpL8wmY2DurE

C2x —5y=4

D.2z 4 5y = 10

Answer: C

o Watch Video Solution

22. What is the period of the graph of the function y = % ?

A 4r

B. 27

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_zpL8wmY2DurE
https://dl.doubtnut.com/l/_uqKRimFCWG8S

23. For what values of k are the roots of the equation kx? 44z + k=0
real and unequal ?

A0 <k<2

B. |k| < 2

C. |kl >2

D.-2<k<0Qor0< k<2

Answer: D

° Watch Video Solution

24. Minor defects are found on 7 to 10 new cars. If 3 of the 10 cars are

selectred at random , what is the probability that 2 have minor defects ?

A. 0143

B.0.333

C.0.525


https://dl.doubtnut.com/l/_Qu10VcRCVXXz
https://dl.doubtnut.com/l/_5W0BWZQFTGD9

D. 0.667

Answer: C

o Watch Video Solution

25.1f f(x) = 32> + 24z — 53, find the negative value of £ ~1(0).

A. —58.80
B. —9.80
C.—8.23
D. —1.87
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5W0BWZQFTGD9
https://dl.doubtnut.com/l/_ZmuxwZTlFTOH

26. If logy x = 0.2, and log, y = 0.4, what is the relationship between

xandy?

A. y=2x

B.y:az2

Cy=,z

D.zy = 0.6

Answer: B

° Watch Video Solution

27.1F 71 = 62, find x.

A —13.2
B.0.08

C.0.22


https://dl.doubtnut.com/l/_DaIMSnsCqVKu
https://dl.doubtnut.com/l/_Ggsh9IGBHkxt

D.12.6

Answer: D

° Watch Video Solution

28. A red box contains eight items , of which three are defective, and a
blue box contains five items, of which two are defective . An item is
drawn at random from each box. What is the probability that one item is

defective and one is not ?

17
120

B5
8

o1
- 32

5 19
40

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Ggsh9IGBHkxt
https://dl.doubtnut.com/l/_2gOas6T4Eovv

29.1f (logz x)(logs; 3) = 3, find x.

A5
B.9
C. 25

D. 125

Answer: D

° Watch Video Solution

30. If
f(@) = V&, 9(a) = YT F1, and h(z) = YT T2, then f(g(h(2))) =
A. 1.2
B.14

C.29


https://dl.doubtnut.com/l/_2gOas6T4Eovv
https://dl.doubtnut.com/l/_IoEqq7XhTbVc
https://dl.doubtnut.com/l/_UOI2xAOLn6b1

D.4.7

Answer: A

o Watch Video Solution

31.In A ABC, /A = 45°, /B = 30°, and b = 8.Side a=

A.6.5

B. 1

D.14

Answer: B

° Watch Video Solution

32. The equations of the asymptotes of the graph of 42> — 9y? = 36 are



https://dl.doubtnut.com/l/_UOI2xAOLn6b1
https://dl.doubtnut.com/l/_TfLGjVIHkOoG
https://dl.doubtnut.com/l/_JMoWXkS88bDV

A. y=x and y=-x

B.y=0 and x=0

Cy= 2 dy= 2

Yy = 3:1@ and y = 3m

D.y = 3 dy= 3

LY = 2:1: and y = 2:13
Answer: C

° Watch Video Solution

33.1fg(z — 1) = 2 + 2, then g(x)=

Ax?—2z+3
B.z2 + 2z + 3
C.z? — 3z +2

D.z2 + 2

Answer: B

| ° Watch Video Solution


https://dl.doubtnut.com/l/_JMoWXkS88bDV
https://dl.doubtnut.com/l/_CMBw8mOTq2Wa

34.If f(z) = 32> — 22° +  — 2,and i = \/—1 then £(i) =
A —2i — 4
B. 4i-4
C.4i

D. —2:

Answer: D

° Watch Video Solution

35.If the hour hand of a clock moves K radians in 48 minutes , K=

A.03

B.04

C.05


https://dl.doubtnut.com/l/_CMBw8mOTq2Wa
https://dl.doubtnut.com/l/_3JUXh6hmjJjL
https://dl.doubtnut.com/l/_B6ygKa7BzCjW

D.24

Answer: B

o Watch Video Solution

36. If the longer diagonal of a rhombus is 10 and the large angle is 100° ,

what is the area of the rhombus ?

A.37

B.40

C.42

D. 45

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_B6ygKa7BzCjW
https://dl.doubtnut.com/l/_CMODY4vZd02j

37.Let f(z) = v/z® — 42 and g(x) = 3x . The sum of all values for which

f(x) =g(x) is

B.O
C.8

D.94

Answer: D

° Watch Video Solution

38. How many subsets does a set with n distinct elements have ?



https://dl.doubtnut.com/l/_hA9iqr7OhZOD
https://dl.doubtnut.com/l/_qlCurKJ5Dv8A

Answer: B

o Watch Video Solution

39.1f f(x) = 2°*° find £ 1(16)

Al
B.2
C.3

D.4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qlCurKJ5Dv8A
https://dl.doubtnut.com/l/_hqDtlvxW2eLi

40. For what positive vavlue of n are the zeros of p(z) = 5z 4+ nz + 12
in ratio 2:3 7

A.042

B.1.32

C.4.56

D.15.8

Answer: D

° Watch Video Solution

41.If f(x) = — f(x) for all x and if the point (-2,3) is on the graph of f,
which of the following points must also be on the graph of f ?

A. (-3,2)

B. (2,-3)

C.(-2,3)


https://dl.doubtnut.com/l/_DOoARD5WmPmG
https://dl.doubtnut.com/l/_ARkGjqJOKHD3

Answer: B

o Watch Video Solution

42. A man piles 150 tookpicks in layers so that each layer has one less
tookpick than the below. If the top layer has three tookpicks , how many
layers are there ?

A.15

B.17

C.20

D. 148

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ARkGjqJOKHD3
https://dl.doubtnut.com/l/_pZPqcpXUoWf8
https://dl.doubtnut.com/l/_DZ11ROLWXHXG

43. If the circle z2 + y* — 2z — 6y = r? — 10 is tangent to the line 12y =
60, the value of ris

Al

B.2

C.3

D.4

Answer: B

° Watch Video Solution

44.1fag = 0.4and a,, .1 = 2|a,| — 1,thenas =

A —0.6
B.—0.2
C.0.2

D.04


https://dl.doubtnut.com/l/_DZ11ROLWXHXG
https://dl.doubtnut.com/l/_Vxjxot178isK

Answer: C

° Watch Video Solution

45.1F5.217 — 2.867, what is the value of % ?

A. —0.60
B.0.55
C.06

D. 0.64

Answer: D

o Watch Video Solution

46. The matrix A =[4 ;/3 ] does not have an inverse. Find the value

of x.


https://dl.doubtnut.com/l/_Vxjxot178isK
https://dl.doubtnut.com/l/_EetCQTaJcF2q
https://dl.doubtnut.com/l/_eSX1iZTOHgfr

Answer: B

° Watch Video Solution

47.There is a linear relationship between the number of chirps made by
a cricket and the air temperature . A least-squares fit of data collected by
a biologist yields the equation:

temp(° F) = 22.8 + (3.4)(#chirps/min)

What is the estimated increase in temperature that corresponds to an

increase of 5 chirps per minute ?

A.34°F

B.17.0° F


https://dl.doubtnut.com/l/_eSX1iZTOHgfr
https://dl.doubtnut.com/l/_2okipKUoy7lU

C.22.8°F

D.26.2° F

Answer: B

° Watch Video Solution

48.If the length of the daimeter of a circle is equal to the length of the
major axis of the ellipse whose equation is z° + 4y* — 4z + 8y — 28, to
the nearest whole number , what is the area of the cirle ?

A. 28

B. 64

C.113

D. 254

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_2okipKUoy7lU
https://dl.doubtnut.com/l/_L9mAM2QuJq9h

49. The force of the wind on a sail varies jointly as the area of the sail
and the square of the wind velocity. On a sail of area 50 square yards ,
the force of a 15-mile-per-hour wind is 45 pounds . Find the force on the
sail if the wind increases to 45 miles per hour.

A. 135 pounds

B. 225 pounds

C. 405 pounds

D. 450 pounds

Answer: C

O Watch Video Solution

50. If the riser of each step in the drawing above is 6 inches and the

tread is 8 inches , what is the value of |AB| ?

]


https://dl.doubtnut.com/l/_L9mAM2QuJq9h
https://dl.doubtnut.com/l/_MPUESwEQlwHK
https://dl.doubtnut.com/l/_JiC8NoixYs16

A. 40 inches

B. 43.9 inches

C. 46,6 inches

D. 48.3 inches

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_JiC8NoixYs16

